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A graphing calculator is required for these problems.

1. Grass clippings are placed in a bin, where they decompose. For 0 £ ¢t £ 30, the amount of grass clippings

remaining in the bin is modeled by A(r) = 6.687(0.931), where A(f) is measured in pounds and 7 is measured
in days.

(a) Find the average rate of change of A(f) over the interval 0 < ¢ < 30. Indicate units of measure.
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A graphing calculator is required for these problems.

1. Grass clippings are placed in a bin, where they decompose. For 0 < t < 30, the amount of grass clippings

remaining in the bin is modeled by A(r) = 6.687(0.931)", where A(t) is measured in pounds and ¢ is measured
in days.

(b) Find the value of A’(15). Using correct units, interpret the meaning of the value in the context of the
problem.

P\'(\S\ (epreser\-\rs the ‘mS-H)\r\A\omeouS role
ok Q\nov\%e Wwhen 1= 15 Ao\\{s. To Lind
TROC ok t=15 days, We need —vo
use ouc calculodor to £ind the
decwvotive of the Sunchion AK)

When += 5.

4 1 Actions ! raD [l X A Scratchpad rap [I] X
'Lis 2 Number 1 Derivative ~
I

;d % 3 Integral Derivative at a Point
S5 Probabil 4 Limit Variable: [ |
X 6 Statistic © Sum Value: [1g] |
kd 7 Matrix 86 Product . —
$¢ 8 Finance 7/ Function Minimum erivative: | 1st Derivative ||

8 Function Maximum oK Cancel

9 Tangent Line

A Normal Line

v
k v
w Scratchpad RAD @ X BCCQUSQ .b\\e Ae(' \VO\* NQ \ S

-0.163591 r\egoA—'we, +his mmeons the ovmk'm-‘c
ot (3\‘055 C\'\ee'mgs i~ Ythe bin
\s decreas\ng o o rade ok
0.16Y pounds pec doy o
" =15 days.

2 (6.687- (0.931) =15
dx




A graphing calculator is required for these problems.

1. Grass clippings are placed in a bin, where they decompose. For 0 £ ¢ < 30, the amount of grass clippings

remaining in the bin is modeled by A(r) = 6.687(0.931)", where A() is measured in pounds and 7 is measured
in days.

(c) Find the time ¢ for which the amount of grass clippings in the bin is equal to the average amount of grass
clippings in the bin over the interval 0 < r < 30.
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A graphing calculator is required for these problems.

1. Grass clippings are placed in a bin, where they decompose. For 0 £ ¢t £ 30, the amount of grass clippings

remaining in the bin is modeled by A(r) = 6.687(0.931)", where A() is measured in pounds and 7 is measured
in days.

(d) For t > 30, L(t), the linear approximation to A at f = 30, is a better model for the amount of grass
clippings remaining in the bin. Use L(t) to predict the time at which there will be 0.5 pound of grass
clippings remaining in the bin. Show the work that leads to your answer.
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